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10.  Číselné výrazy  
1. Vypočítej. 

52 . 43     

54 . 82                                  

 

 

 

63 . 53      

64 . 252                                  

 

 

 

 

3 . 8 – 15 =                                                            72 : 6 – 4 =        
 
3 . 7 + 35 =                                                             92 : 4 – 14 =                                                                                          
 

2. Vypočítej výraz a pojmenuj ho: 
 

10 + 5 . 6 =                                      ………………………….                                        
 
( 2 + 8) : (5 – 9) =                            …………………………           
 
22 - 7 . 6 =                                        …………………………..            
 
( 2 + 9)2  =                                        …………………………..  
   

3. Vypočítej: 

 

√144  + √25 =                                                     √4 . 64 =    
 

√169  . √25 =                                                √144 .  36  =        
 

32 + √19 + 177    -  3 . 3 2  =             
 

15 – √270 − 149    + 3 . 4 2  =   
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10.  Číselné výrazy - řešení 

1. Vypočítej. 
 

52 . 43 ---        
𝟏

𝟓𝟐 =  
𝟏

𝟐𝟓
 

54 . 82   ----                                

 

 

63 . 53              
𝟏

𝟓
 

64 . 252  ----                                

 

 

 

3 . 8 – 15 =     9                                                       72 : 6 – 4 =    8    
 

3 . 7 + 35 =     56                                                        92 : 4 – 14 =    9                                                                                      
 

2. Vypočítej výraz a pojmenuj ho: 

10 + 5 . 6 =     40                             součet                                       
 

( 2 + 8) : (5 – 9) =  - 2,5                podíl                            
 

22 - 7 . 6 =    -20                         rozdíl            
 

( 2 + 9)2  =      121                           mocnina 

   
3. Vypočítej: 

√144  + √25 =   17                                                  √4 . 64 =   16 

 

√169  . √25 =   65                                             √144 .  36  =   72     

 

32 + √19 + 177    -  3 . 3 2  =    19         
 

15 – √270 − 149    + 3 . 4 2  =  52 
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11. Číselné výrazy - závorky  
 

1) Vypočítej:                   

{2. [8 − 3. (12 − 9) + 3 . 2] −  7} +  1 = 

 

 

 

 

(14 − 9) . √16 − {[8 + 2. (2 − 9) + 3 .  4] − 2} − 2 .  (2 − 6)2 =         

 

 

 

 

 

 

 
  {2 .  4 + [5 − 2. (2 − 9) + 3] + 2 .  7}  − 6 ∶ 2 = 

 

 

 

 

 

(24 − 19) . √169  − {4 − [8 + 3 . (8 − 9) + 2 .  4] + 2} − 2 .  (4 − 6)3 =        
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11.  Číselné výrazy - závorky - řešení 

 

Vypočítej:                   

{2. [8 − 3. (12 − 9) + 3 . 2] −  7} +  1 = 4 

 

(14 − 9) . √16 − {[8 + 2. (2 − 9) + 3 .  4] − 2} − 2 .  (2 − 6)2 =      - 16   

 

  {2 .  4 + [5 − 2. (2 − 9) + 3] + 2 .  7}  − 6 ∶ 2 = 13 

 

(24 − 19) . √169  − {4 − [8 + 3 . (8 − 9) + 2 .  4] + 2} − 2 .  (4 − 6)3 =   88     

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


